
1 

¨ Inspect all contents prior to installation.  Report any missing parts to dealer immediately. 
¨ Read all instructions before proceeding. 

—— Instruction Manual —— 

FBWDS 
RED WIND DIRECTIONAL STREAMERS 

 
 
1. Use 2 3/8 Band Clamp (B), 5/16 Hex Bolt (C) and 5/16 Nylock Nut (D) to attach Wind Streamer (A) to the 

top of football upright within 1/2” of the top prior to rotating upright into playing position.  See Figure 1. 

Implementation Date:  8/28/23            Rev: IR            N.J.C.          File: I:\Publisher\Instructions\Football\FBWDS             Ref# 800078            L.M.   

Customer Service     
(800) 247-7668 

P A R T S   L I S T  

Item Qty Description Item Qty Description 

A 4 Wind Streamer C 4 5/16 x 1 1/2 Hex Bolt 

B 4 2 3/8  Band Clamp D 4 5/16 Nylock Nut 


